V1016 Cyg aJ2000 — 19 57 05.03 5J2()(]() = 439 49 36.4
B (%) vV (2) B-V (+) U-B (+) V-Rc (%) R-Is (&)
a 12.866 0.004 12.314 0.007 0.552 0.006 0.085 0.014 0.334 0.007 0.315 0.014
b 13.292 0.007 12.887 0.011 0.406 0.008 0.223 0.011 0.237 0.004 0.263 0.016
c 13.887 0.003 13.214 0.006 0.672 0.005 0.219 0.014 0.380 0.003 0.353 0.002
d 13.967 0.006 12.803 0.011 1.164 0.009 0.954 0.014 0.637 0.005 0.572 0.014
e 14.681 0.006 13.964 0.009 0.717 0.007 0.275 0.026 0.419 0.004 0.340 0.002
f 15.016 0.008 13.588 0.009 1.428 0.002 1.645 0.055 0.785 0.005 0.669 0.014
g 16.092 0.005 14.946 0.012 1.145 0.011 0.950 0.046 0.648 0.007 0.564 0.017
h 17.290 0.005 16.376 0.011 0.913 0.010 0.701 0.033 0.554 0.073 0.486 0.039
i 18.049 0.035 17.171 0.035 0.878 0.004 0.280 0.084 0.652 0.003
I 9.50 0.02 8.32 0.03  Tycho-2 B, Vv, transformed to Johnson’s B, V
I 10.70 0.04 10.51 0.05 7 7
T 12.04 0.14 11.51 0.13 " "
ag2000 (£7) d.72000 (£7) N
a 299.294717 0.140 39.844059 0.052 3
b 299.320815 0.124 39.789479 0.025 3
¢ 299.237745 0.084 39.828195 0.011 3
d 299.236459 0.063 39.819250 0.014 3
e 299.209099 0.010 39.792024 0.050 3
f 299.251863 0.048 39.789385 0.011 3
g 299.228603 0.027 39.787544 0.079 3
h 299.255726 0.088 39.848783 0.008 3
i 299.322849 0.033 39.815620 0.115 3
I 299.266198 39.921716 Tycho-2
I 299.148633 39.701873 Tycho-2
IIT  299.255504 39.936346 Tycho-2
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